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DURATION: - 2% hrs

B.Material control involves control over
a. Consumption of material
b. Issue of matorial

Note: - (1) All questions are compuboty'-
(Z) Ett questions carry 9qq?l marks'
iSl Figures to the right indicates full marks

Q.l.A. Select appropriate word: (Any 8)
LECQ stands for

a. Economic Order QuantitY
b. Essential Order QuantitY

I
Z.Time wages are paid on the basis of
a) ActuaTtime 

- b) Standardtime

Cosu*..rt-caun*iiS" T
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(co-1,2,3,4- U) (8M)

c. Economic OutPut QuantitY
d. Essential OutPut QuantitY

c) Time saved d) Overtime

c. Stores dePartment
d. Finance department

c. Purihase of material
d. Purchase, storage and issue of material

412051223

3. which of the following cannot be used as a base for the determination of overhead absorption rate?" 'u.^- 
l.i.i*U., of ,ritr frroduied c. Conversion cost

b. Prime cost 
- d' Discount Allowed

4.Bin card is maintained bY the
a. Accounts department
b. Costing department

5.In most of the manufacturing industries, the mOst important element of cost is

a. Material c. Overheads
b. Labbur d'' Factory overheads

6.When standard output is 10 units per hour and actual output is l2-units per hour, the efficiency is.

a. SO% ' b.'100% c. 120% d' 12%

t 1t

7.If thyannual demand is equal to 500 units, ordering cost is equal to 40 and caffytngcost is equal to Rs.4

per unit, the ECQ is
a. l0 b. 37.62 c. 100 d' 37'5

9.The costs associated with storage ate aL example of which cost category?
a. Quality costs b.- Labour costs c' Ordering costs

i0.Costs that can be easily traced to a specific department are called
a. Direct costs b. Indirect costs c. Overheads

d. Carrying costs

d. Processing costs

Q.1.8. State whether the following statement are true or false. (Any 7): '(CO-1,2,3,4- U) (7M)

l. Overheads is direct cost.

2. Dearness allowance is linked with cost-of-living index.

3. Under FIFO method, material purchased first are deemed to be issued last.

4. Wage plan promotes industrial peace.

5. nent is apportioned on the basis of flo or area occupied.

6. Stor ledger is maintained in store department.

1. Power is allocated on the basis of H.P of machines.

8. Cost accounting provides data for managerial decision making.

9. Cost accounting can be used only in manufacturing ooncern.

10. Stock level are fixed up for inventory control.

has three production department and two services department. Distribution summary of

A
B
U

1

Rs.15,000
1 000

Q.2.A Company
overheads is as follows.
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Rs.3 000
Y
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Apportion of cost service department by using'
' ''''i. 

Direct method
; "n"lEt"J Distribution Method

l. rriliA Error Method' 
OR

Q.2.'fhe following expenses have been incurred

C-alculate, Machine hour rate'

.3. Aifrit an employe e of XYZItd' Gets the following benefits:

$:"Jffi:,"J flfiL, hour. Deamess Atlowance: Rs.1 per hour

J[,il""iH.;rb h;;;;, Actual Hours: 50 hours'

Q.4.A.The following information is a available'

(co-4, AAE) (1sM)

in respect of a shoP having four identical machines

(co-4, AAE) (1sM)

(co-3, AAE) (lsM)

0

Amit works for 2,500 hours q'a oll of which 500 hrs are non-pro

You are required t" il;;;it" in"tti"e hourty cost of Amit'
ductive but treated as normal Idle !p9-'.

(co-3, AAE) (lsM)

Q.3. comp,te the earning of a worker under Time Rate Method' Piece Rate Method' Halsey Plan and

I{ow'art Plan.

OR

Clalculate:
l.Maximum level
2.N4ininrunr Level
.l.Re-orclering level
4.Av.tug. stock level'

Rs.4,800 P.a
Rs.1000 P.a
Rs.800 P.a
Rs.100 P.a
Rs.600 P.a

6; p.a

Rs.60,
Rs.60

0 .m.p
each

Rs.5.200
8% of salarY and DA
4oh of salarY and DA
20% of salarY and DA

5

SalarY
Deat'ness allowance
ff$ ffi;;'."odiuution to Provident fund
'rriiiiriov..t 

contribution to ESI

Bot"tus
Other all

240 units Per daY

3600 units Per daY

10 to 15 daYs

J
4

per
20 units dayper

12

Maximum ConsurnPtion
Mini*t* ConsumPtion

QuantitY
Period

e-orderR
Re-older

doorderRe-ormalN

N
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1.4.8. From the particulars, oalculate the Economic Order Quantity.
i .Annula requirements =1,600 units

_ l.Cost of placing and receiving per purchase order: Rs.50
i.Cost of rnaterial per unit Rs.40
zl.Annual carrying cost inventory: l0o/o of inventory value. (CO-z, AAE) (7M)

OR

Q.4. From the following information, find out value of stock by preparing stores ledger as per FIFO and
Weighted average method.

Date Transactions Units Rate per unit (Rs.)
1.4.2023
3.4.2023
1.4.2023
6.4.2023
8,4.2023
9.4.2023
10.4.2023

Opening Balance
Purchases
Sales
Sales
Purchases
Sales
Sales

1000
s000
3000
3000
3000
2000
500

50
60
65
65
50
60
55

The weekly physical stock taking on 7th April,2O23 showed a shortage of 100 units. (CO-L,AAE) (15M)

Q,5.A. Distinguish between Financial Acoounting and Cost Accounting.
Q.5.8. Distinguish between Bin card & Store Ledger.

OR

Q.5, \treri{. Shorl note :( Any Three)

(co-l, u, A) (8M)
(co-z, u, A) (7M)

(c0-L,2,3,4- U, A) (15M)
a)
b)
c)
d)

Distinguish between Maximum Level and Minimum Level
ldle Time
Classification of cost
Labour Turnover
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